o Sgils sl
LLﬂgl ‘Jﬁ.ﬂ

L g

T
b g
A
0
-

555 e

R R R I S e
) ot 4 i . WA
g g gn 3ol ciles 2 adls A1
b i-n-u:lﬁ -F-ﬂ.: ~ oy
baaad Logh o ple! b
R preaa= aw:
o L+INTY ey
b o
ey b
oy i
b o
ey o
B A 3
E‘{E‘{i T e e t&‘{
RN 1 Al e Gl b33
ey e
Y 3
ey I L - = a - & 'ls . e
Sy J - & yb W W X b
25 ¥4 19 & - J‘ H ﬁb"J.l“ S999 U!"JT 433
o b
s o33
Seas: s
b ey
e e
e ot
Loy ey
ey e
o o
e o
ey b
o b iy
e o
ey b
402 it

1 . _ 45
e aiada 1rd o pfialy Cade s

il 0yl g s ¢ lomial Sy lgis

L B b R
i
SR

8 i

2jlast

JHjes s el slye g3,

¥

%

Y g g gagar i |

iai

™

VY hlal _-_.l.-' [RPIETT Y B T .;‘:'Jl.up:.-I__-L_.J T

af

w

W - Tat 5 ple s T

[ el '-Il.u‘l uhw

ol d e bt aiile 3 salic ol




PART A: Vocabulary
Directions: Choose the word or phrase (1), {2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

Understanding the world economie conditions, the recent graduates spoke ......... about
job prospects for the future.

1} luxuriously 2) warily 3) narrowly 4) inaudibly

The English word “family™ used to ........ all the people in the house, including servants.
1) denote 2) predict 3) participate 4) ascertain

Greg's excellent poem won the .......... of his friends.

1) advent 2) apex 3}y access 4) acclaim

Your eyes need approximately 20 to 30 minutes to ......... darkness.

1) account for 2) take in 3) adjust 1o 4) rely on

Critics condemned the novelist’s ......... attempt to plagiarize Hemingway's story.

1) judicious 2) discreet 3) felicitous 4) brazen

When 1 had an awful sore throat, only warm tea would ........ the pain.

1) assimilate 2) devastate 3) mitigate 4) prescribe

I have always liked your positive attitude; it has always ......... affected our working
relationship.

1} favorably 2) hastily 3) candidly 4) consciously

When the rain began to pour, the crowd at the baseball game quickly ......... .

1) annihilated 2} dispersed 3) uncovered 4) pacified

Everyone in the family enjoys seafood, so my uncle’s distaste for the salmon dish was an
1) altercation 2) anomaly 3) autonomy 4) accolade

Denise .......... for weeks before she actually decided to accept the job offer.

1) squandered 2) regretted 3) precluded 4) vacillated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each space. Then mark the correct choice on your answer sheet.

Later moralists, however—for instance, the 18th- and 19th-century British utilitarians Jeremy

Bentham and John Stuart Mill-defined happiness (11) ......... pleasure and the absence of
pain. Others, still (12} ......... happiness as a state of mind, have tried to distinguish it from
pleasure on (13) ......... that it is mental, not bodily; enduring, not transitory; (14) .........

rational, not emotional. But these distinctions are open to question. A temporal dimension was
added to eudaemonism in ancient times by Solon, who said, “Call no man happy till he is
dead.” (15) ......... that happiness and its opposite pertain, in their broadest sense, to the full
course of one’s life. Contemporary moralists have tended to avoid the term.

1y such as ) like ) for example 4} as

1) regarding 2) have regarded 3) regard 4) who regards
I’y the ground 2) the grounds 3) a ground 4) grounds

1) but 2} neither 3) and 4) then

1) and suggesting 2) who suggested 1) suggesting 4) by suggesting
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PART C: Reading Comprehension

Directions: Read the following four passages and choose the best choice (1), (2), (3),
or{4). Then mark it on vour answer sheet.

PASSAGE 1:

There are many invaluable books available on machine learning. Machine learning is a
branch of artificial intelligence (Al) that grew out of such diverse disciplines as traditional
computer science, linguistics, cognitive science and psychology. Although the philosophical
roots of the subject may be traced back to Leibniz and even ancient Greece, the modern era
begins with the work of Norbert Wiener, the father of Cybernetics, a term that he introduced in
“Control and Communication in the Animal and the Machine™ (1948). However, it was not
until 1955 that “The Logic Theorist’, generally accepted as the first Al program, was presented
by Newell and Simon. In this ground-breaking work, they proved that computers were more
than just caleulating machines, thus shepherding in the era of the computational model of the
mind.

In Turing's 1950 seminal work “Computing Machinery and Intelligence’, in which he first
presents his famous eponymous test, he hoped to establish the claim that human intelligence is
not special but can be explained in terms of computation. Research initially focused on the
misguided notion that machine intelligence should provide a model for human intelligence.
Ultimately, researchers in expert systems found that this was not the way to go.

Machine learning in the 1960°s was largely concerned with knowledge representation and
heuristic methods but the early 1970°s research in neural networks had begun to flourish,

According to the text, which of the following statements is valid?

1) The background of machine leaming can be coincided in Cybernetics.

2) Scientists hope that intelligence in humans can be modeled by machine intelligence.

1) Machine learning can be categorized to artificial engineering and computer science.

4) The philosophical origins of machine learning can even go back to first millennium B.C..

In the sentence “There are many invaluable books available”, what does “invaluable™

mean?

1) Priceless 2) Reasonable 3) Worthless 4) Inexpensive

Which of the following conclusions is correct according to the text?

1) There has been a drastic evolve in the research path in machine learning.

2) According to Turing, intelligence in human kind is distinet and can hardly be described by
any means.

3) “The Logic Theorist™ was amongst the typical research works during fifties.

4) Nowadays. the overall belief in the scientific society about computers is that their
application is confined to fast and efficient calculating.

The meaning of “traditional™ in “traditional computer science™ is close to:

1) Modern 2) Theoretical 3) Academic 4) Conventional

What does the writer mean by “heuristic methods™ in the lest paragraph?

1) Analytical 2) Investigatory 3) Conceptual 4) Unskeptical
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PASSAGE 2:

Molecular imaging is a discipline of medical imaging where people study activities within
the body at the subcellular and cellular level to get a detailed picture of processes happening
inside both healthy and ill patients. It is a noninvasive diagnostic and clinical tool.

In molecular imaging, people can use existing tools like ultrasound, tracers. light, and
magnetism to generate detailed images of the inside of the human body. The focus is on very
high resolution in the finished images so people can see not just general structures in the body,
but activities occurring at a cellular level. For example, a neurologist can use a tracer to map
signaling pathways in the brain for the purpose of learmning more about apparent neurological
deficits in a patient, to determine how and where signals are going awry.

Being able to view processes inside the body of a living patient is an important step forward
for medical diagnostics. Molecular imaging can allow people to detect very minute changes
and variations that may not be visible with less detailed studies of a patient; it can potentially
allow a doctor to identify the early signs of a problem and provide treatment before it develops
into a medical issue, for example. The level of resolution is also important for studying
conditions that are difficult to learn more about through pathology and the analysis of
specimens, like the spread of degenerative neurological diseases in living patients.

Doctors can use a variety of imaging techniques to obtain studies with the required level of
detail and information, including both static and dynamic imaging. Taking pictures of
processes inside the body as they occur can be very informative for treatment of a variety of
conditions, like respiratory diseases. A doctor can use a tracer to watch how a patient breathes
and to determine how much air penetrates the lungs and how efficiently the lungs use gas
exchange to trade waste carbon dioxide from inside the body for oxygen in the air. This can
help him/her understand a respiratory condition and develop a treatment plan,

What does not “molecular imaging” allow physicians to do?

1) Noninvasive diagnosis

2) Visualization of tissue structures at the cellular level

3) Noninvasive treatment

4) Visualization of dynamic processes inside the human body

According to the text, what is the main advantage of “molecular imaging” relative to
“established conventional imaging™?

1) It is faster 2) It has higher spatial resolution
3) It is less expensive 4) It has higher temporal resolution
A neurologist benefits from “molecular imaging™ by ———---

I} Determining how much air penetrates the lungs

2) Determining how efficiently the lungs trade waste carbon dioxide for oxygen

3) Mapping tissue structures in the brain at the cellular level

4) Determining how and where signals in the brain go off the expected course
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PASSAGE 3:

Convexity is essential to modern optimization theory. However, it is not always the natural
property to be expected from many nonlinear phenomena. Another property, perhaps at least as
pervasive in the real world as convexity, is monotonicity, Monotonic optimization, or more
generally d.m. (difference of monotonic) optimization, is concerned with nonconvex
optimization problems described by means of monotonic and d.m. functions. The basic
problem of d.m. optimization is maximization of a monotonic finction under monotonic
constraints. In the last few years, a theory of monotonic optimization has emerged which
provides a general mathematical framework for the study of these problems.

There is a striking analogy between several basic facts from monotonicity theory and
convexity theory, so that monotonicity can be regarded as abstract convexity, using a term
coined by Singer in 1997.

From the point of view of modern optimization theory, a fundamental property of convex
sets is the separation property which states that any point lving outside a closed convex set can
be separated from it by a halfspace. The geometric object analogue to a convex set is a
downward set which is the lower level set of an increasing function.

According to the sentence “Another property, perhaps at least as pervasive in the real
world as convexity, is monotonicity.”, we can conclude that:

1) Monotonicity is as vital as convexity in the real world.

2) Monotonicity is as widespread as convexity in the real world.

3) Monotonicity is as useful as convexity in the real world.

4) Monotonicity is as important as convexity in the real world,

According to the text:

1) Although nonlinear phenomena are not necessarily convex, they all have the monotonicity
property.

2) Convexity is a necessary condition for monotonicity.

3) The theoretic aspects of monotonicity and convexity have impressive similarities.

4) Convexity is a generalized monotonicity.

What does “coined” in “A term coined by Singer™ mean?

1) Copied 2) Spanned 3} Created 4) Optimized

What does the the author mean by “monotonic constraints™?

1} The halfspace separated from a convex set.

2) Monotonic functions which exhibit the separation property.

3) Monotonic functions which are not convex.

4) The limitations imposed to the problem due 10 monotonicity.
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PASSAGE 4:

Microelectromechanical systems (MEMS) is the technology of very small mechanical
devices driven by electricity. MEMS are separate and distinct from the hypothetical vision of
molecular nanotechnology or molecular electronics. MEMS are made up of components
between | to 100 micrometers in size and MEMS devices generally range in size from 20
micrometers to a millimeter. They usually consist of a central unit that processes data, the
microprocessor and several components that interact with the outside such as micro sensors, At
these size scales, the standard constructs of classical physics are not always useful. Because of
the large surface arca to volume ratio of MEMS, surface effects such as electrostatics and
wetting dominate volume effects such as inertia or thermal mass.

The potential or very small machines was appreciated before the technology existed that
could make them but MEMS became practical once they could be fabricated using modified
semiconductor device fabrication technologies, normally used to make electronics. These
include molding and plating, wet etching and dry etching, electro discharge machining, and
other technologies capable of manufacturing small devices. An early example of a MEMS
device is the resonator. The global market for micro-electromechanical systems includes
products such as automobile airbag systems, display systems and inkjet cartridges.

It is inferred from the text that:
1} One of the reasons for which MEMS devices are being used in nowadays technology 15 that
it can be implemented using the semiconductor device fabrication technology.
2) MEMS devices and electronic devices should be fabricated completely separately and
independently.
1) MEMS devices were commercially used long before the introduction of electronic integrated
devices.
4) MEMS devices were originally used for power generation,
In the sentence “These include molding and plating,...", what does “These™ refer to?
1) electronic devices 2y MEMS devices
3) fabrication technologies 4) small machines
Which statement is not true about MEMS devices?
1) They can be used to fabricate microsensors.
2) They are the actual implementation of the hypothetical molecular electronic.
3) Microcontrollers can facilitate the functionality of MEMS devices.
4) Compared to classical sensors, new concepts should usually be incorporated in MEMS
devices.
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